LA 1  
Calculate the IP for BaCO3 when the following solutions are mixed Show your work
0.125 L of a 2.3 x 10-2 M BaCl2   
0.256 L of a 5.6 x 10-3 M Na2CO3
Will a precipitate form?  (BaCO3 Ksp = 2.6 x 10-9) Explain   

LA 2

Balance the following reaction in an acidic solution

Mn2+(aq)  +  Br2(l)  (  MnO4-(aq)  +  Br-(aq)
LA 3

Calculate the standard entropy of reaction, (S(, at 25°C for the following reaction

CaO(s)  +  CO2(g)  (  CaCO3(s)
Substance

       S° (J/Kmol)

CaCO3      


92.9

CaO       
         

39.7

CO2    


 
213.6

LA 4

Consider a galvanic cell that uses the reaction

Cu(s)  +  2 Fe3+(aq)  (  Cu2+(aq)  +  2 Fe2+(aq)
What is the potential of a cell at 25°C that has the following ion concentrations

[Fe3+] =   0.30                 [Cu2+] =   0.25                          [Fe2+] =    0.40 

The following is a small part of the standard reduction table

Fe3+  +  1 e  (  Fe2+





0.77 V
Cu2+  +  2 e (  Cu0





0.34 V
LA 5

Match the following functional groups to the appropriate structure
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a.  Alkane

b.  Alkene

c.  Alkyne

d.  Arene

e.  Alcohol

f.  Carboxylic acid

g.  Ester

h.  Ether

i.  Amide

j.  Amine

k.  ketone

L.  Aldehyde  


Equations

(G = (H-T(S
(G( = (H(-T(S(
M = mol/L

(S( = ( S(products - ( S(reactants
E( = E(ox​  +  E(red
E = E( - [(.0592 V / n) ( log Q]
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